FHMEeF12A15BIT BEihREE RFER

10838 7E
(BAEHI-AT7E ZL)
= BEF £ SHEEER (N) HEAH (A) BREXR (%) AIERER (%) _
e = 2 z it 2 =9 B 2 = BErm£ E:] = it
1 |EMHRFR 3,869 4277| 8,146 122 88 210 3.15 2.06 258|ESI R 2.53 1.86 219
2 |AREE 2,682| 3,072 5754 88 64 152 3.28 2.08 2.64| N EEE 2.62 2.52 2.57
3 [FE1/hER 1,484] 1,455 2939 52 42 94 3.50 2.89 3.20[F 1/ 2.27 1.35 1.81
4 Kizr-sRemr75Y| 3,302 3,739 7,041 79 69 148 2.39 1.85 2.10|mig o 9—| 3.26 2.32 2.75
5 <( -5t mRISY| 2,022 2376 4,398 74 62 136 3.66 2.61 3.09[Kict-bmRTSY|  3.73 2.82 3.22
6 |F2/NE 3,266/ 3,299 6,565 129 90 219 3.95 2.73 3.34|F 2 /R 3.60 2.90 3.25
7 |EI3/NER 2602] 2826 5428 103 70 173 3.96 2.48 3.19|FE 3/ 3.90 2.84 3.34
8 |[FE3dhFEHK 1,955 1,940 3,895 40 30 70 2.05 1.55 1.80| E 4/NEH: 2.54 1.91 2.21
9 |=tRaz-—mEmEsm 873[ 1,070 1,943 32 30 62 3.67 2.80 319|ztraz—mssm| 558 458 5.03
NEFLESS 3,413] 3.833[ 7246 135 90 225 3.96 2.35 3.11|FE 2R 3.71 2.32 2.99
11 [FE6/NER 2998 3,191 6,189 113 81 194 3.77 2.54 313|FE6/NFRK 4.14 3.13 3.63
12 |E7/INFERR 1,929] 1,938] 3,867 103 60 163 5.34 3.10 4. 22|57 INERR 4.65 3.30 3.99
& &t 30,395| 33,016| 63411 1,070 776 1,846 3.52 2.35 2.91 & 3.43 2.54 2.97
XS RIDERE LY —BRERRVBRERNERLLE>TEYET,




